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K& (FUNITKRBNRIVTESE 42.9% 57.1% 0.0% 100. 0%
a2 )—Fk (RC) & 1. 7% 66. 7% 31. 6% 100. 0%
o) —bk (RC) &E<TLANTD 0. 0% 88. 9% 11.1% 100. 0%
e (S & 0. 0% 41.2% 58. 8% 100. 0%
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8RB (S)ETLNT> 1,031 0 0 0 0 3 0 0 82 0 138 1,254
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avH)—kJavs (CB) & 0 0 0 0 0 0 0 0 0 0 0 0
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RiE (BT K2 x45D) 72.8% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 2.5% 0.0%| 24.7%| 100.0%
K& (FUNTKRENRRIVTES> 86. 5% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 1. 6% 0.0%| 11.9%] 100.0%
a2 —k(RC) & 6. 7% 0. 8% 0. 7% 0.1% 0.1%| 56.6%| 20.1% 0.1%| 11.9% 0.0% 2.9%| 100. 0%
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ZuiL | HH Fik2 a5t
A& (ERIE) 4 68 230 302
ARiE (Bl T E<2 x45)) 0 39 42 81
KiE (TUNITKRENRIVTEE 0 60 66 126
oo )—Fk (RC) & 13089 211 56715 70, 015
a2 o)—Fk RC) BELTLANTD> 0 0 40 40
e S & 584 31 51 666
B () ETLANTD 2 553 699 1,254
HEHmary)—k (SRC) & 87 0 867 954
arvy)y—r2JOws (CB) & 0 0 0 0
Z Ntk 0 0 63 63
=X 13, 766 962 58, 773 73, 501
e T ERNEE/MARER (BEREOBNADHDERS (BHOER) )

ZuiL | FHH Fih2 &t
A& (EXRIE) 1.3% 22.5% 76. 2% 100. 0%
A& (PpffEE T A2 x45)) 0. 0% 48.1% 51.9% 100. 0%
K& (FUNITKRBNRIVTESE 0. 0% 47. 6% 52. 4% 100. 0%
a2 )—Fk (RC) & 18. 7% 0.3% 81. 0% 100. 0%
o) —bk (RC) &E<TLANTD 0. 0% 0. 0% 100. 0% 100. 0%
e (S & 87. 7% 4.7% 1. 7% 100. 0%
#®E (S) ETLND 0.2% 44.1% 55. 7% 100. 0%
HEHmary')—k (SRC) & 9.1% 0. 0% 90. 9% 100. 0%
avy)y—r2JOvyy (CB) & - - - -
Z Dk 0. 0% 0. 0% 100. 0% 100. 0%
&t 18. 7% 1.3% 80. 0% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

2. KKFDOREICEHT S &

2-6 MitkEHR GERDOEZNDHEHES (BHOARLIS] )

ZuiL | HH Fik2 FHR3 Fika =1
B 12, 596 288 845 312 59, 942 73, 983
% 17. 0% 0. 4% 1.1% 0. 4% 81. 0% 100. 0%
WETENEE WMAER EREOBZTADHZE57 (BHOERLSN) )

ZuiL | HH Fik2 F#K3 T =1
A& (ERIE) 3 12 102 57 128 302
A& (BfAEET ;RO x45)) 0 29 11 41 0 81
KiE (TUNITKRENRIVIEE 0 1 12 46 i 126
o) —Fk (RC) & 11,922 32 7 1 58, 053 70,015
a2 )—Fk RC) BELTLANTD> 0 0 0 0 40 40
e S & 584 23 7 14 38 666
B (S) &ETLNATD 0 191 646 152 265 1,254
HEHmary)—k (SRC) & 87 0 0 0 867 954
avhy—rJawvy (CB) & 0 0 0 0 0 0
Z Nt 0 0 0 1 62 63
=X 12, 596 288 845 312 59, 460 73, 501
WETENEE/ WMAER EREOBZTIADHZE57 (BHOERLN) )

ZuiL | FHH Fih2 FR3 e =1
A& (EXRIE) 1. 0% 4.0% 33. 8% 18. 9% 42. 4% 100. 0%
A& (PpffEE T A2 x45)) 0. 0% 35. 8% 13. 6% 50. 6% 0.0% 100. 0%
K& (FULNTKRBNRIVTESE 0. 0% 0. 8% 57.1% 36. 5% 5. 6% 100. 0%
#Hemary)—Fk (RC) & 17. 0% 0. 0% 0.0% 0.0% 82. 9% 100. 0%
HFHary)—bk (RC) &E<TLANTD 0. 0% 0. 0% 0.0% 0.0% 100. 0% 100. 0%
e (S & 87. 7% 3. 5% 1.1% 2.1% 5.7% 100. 0%
#H®E (S) ETLND 0. 0% 15. 2% 51. 5% 12.1% 21.1% 100. 0%
HEHmary)—k (SRC) & 9.1% 0. 0% 0.0% 0.0% 90. 9% 100. 0%
avy)y—r7JOvys (CB) & - - - - - -
Z Dk 0. 0% 0. 0% 0. 0% 1. 6% 98. 4% 100. 0%
&t 17.1% 0. 4% 1.1% 0. 4% 80. 9% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

2. KKFDOREICEHT S &

2-7 iR FR (RERUREK)

ZuiL | HH Fik2 FHR3 Fika =1
B 477 413 129 110 72, 854 73, 983
% 0. 6% 0. 6% 0. 2% 0.1% 98. 5% 100. 0%
BETZEANFH/ MAER (RERURK)

ZuiL | HH Fik2 F#K3 T =1
A& (ERIE) 73 30 18 29 152 302
A& (BfAEET ;X2 x45)) 12 3 0 21 45 81
KiE (TUNITKRENRIVIEE 18 40 0 14 54 126
o o)—Fk (RC) & 50 34 70 4 69, 857 70,015
a2 o)—Fk RC) BETLNTD> 0 0 0 0 40 40
e S & 10 0 0 0 656 666
B (S) &ETLNATD 312 306 41 42 553 1,254
HEHHma2 Y )—k (SRC) & 1 0 0 0 953 954
avhy—rJawvy (CB) & 0 0 0 0 0 0
Z Nt 1 0 0 0 62 63
=X 477 413 129 110 72,372 73, 501
BETERNEES MAEHR (RERUREK)

ZuiL | FHH Fih2 FR3 e =1
A& (EXRIE) 24. 2% 9. 9% 6. 0% 9. 6% 50. 3% 100. 0%
A& (PpffEE T E<2 x45)) 14. 8% 3. 7% 0.0% 25. 9% 55. 6% 100. 0%
K& (FULNITKRBNRIVTESE 14. 3% 31.7% 0.0% 11.1% 42. 9% 100. 0%
oy )—Fk (RC) & 0.1% 0. 0% 0.1% 0.0% 99. 8% 100. 0%
oy )—bk (RC) &E<TLANTD 0. 0% 0. 0% 0.0% 0.0% 100. 0% 100. 0%
e () & 1. 5% 0. 0% 0.0% 0.0% 98. 5% 100. 0%
#®E (S) ETLND 24.9% 24. 4% 3. 3% 3. 3% 44.1% 100. 0%
HEHmary)—k (SRC) & 0.1% 0. 0% 0.0% 0.0% 99. 9% 100. 0%
avy)y—r7JOvys (CB) & - - - - - -
Z Dk 1.6% 0. 0% 0. 0% 0. 0% 98. 4% 100. 0%
&t 0. 6% 0.6% 0. 2% 0.1% 98. 5% 100. 0%
JFL151
2-3 @R EXR (MEFFENKE - HAKRT) BEfER K

FREERT

BAREE

O QO O T O

2-3 BHMREXME (MEFFNKEF - XAKET)

a
b
c

2-4 BRHXER (KSEH)

4
mi
N

HWERE (—H/R)
HHBHE (nEX)

Z D

FmERZR

BEODHTERBICE S 2ULEDARADEEEATTEE

EERE R & DREICHEFRFEANLLY

Z Dt

EEMRERICEEET /)L =—
BRICET 5/N)La=—

B E
Z Dt

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

3. HIEDBEREICEET S &

3-1 SIEREFR BEREE)

Fk Fik2 FHR3 =111
B 4,030 8,719 61,174 73,983
% 5. 4% 11. 9% 82. 7% 100. 0%
BETENFH/SIExtRER BEFRF)

Fika Fh2 F#3 &t
A& (ERIE) 46 63 193 302
A& (BfAEET ;R x45)) 8 19 54 81
K& (TULNTKREBNRIVTESE 0 0 126 126
oo )—Fk (RC) & 3,296 8,325 58, 394 70, 015
o) —k (RC) &E<TLNDD 20 20 0 40
e S & 214 29 423 666
B () ETLANTD 229 0 1,025 1,254
HEHmary)—k (SRC) & 128 180 646 954
arvy)y—r2JOws (CB) & 0 0 0 0
Z Ntk 0 62 1 63
&it 3,941 8,698 60, 862 73, 501
BEIZIE/SIEXRER BEFRKF)

FR1 Fih2 F#K3 &t
A& (EXRIE) 15. 2% 20. 9% 63. 9% 100. 0%
A& (FpAEE TR x45)) 9. 9% 23. 5% 66. 7% 100. 0%
K& (FUNITKRBNRIVTESE 0. 0% 0. 0% 100. 0% 100. 0%
a2 )—Fk (RC) & 4. 7% 11. 9% 83. 4% 100. 0%
o) —bk (RC) &E<TLANTD 50. 0% 50. 0% 0.0% 100. 0%
e (S & 32.1% 4. 4% 63. 5% 100. 0%
#®E (S) ETLND 18. 3% 0. 0% 81. 7% 100. 0%
HEHmary')—k (SRC) & 13. 4% 18. 9% 67. 7% 100. 0%
avy)y—r2JOvyy (CB) & - - - -
Z Dk 0. 0% 98. 4% 1. 6% 100. 0%
&t 5. 4% 11. 8% 82. 8% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

4 HEFEE - BHAOREICETSI &

4-1 HEFEENEER (FRARE)

&t L FR Fik2 FHR3 =X
B 1 3,921 50, 339 19, 722 73, 983
% 0. 0% 5.3% 68. 0% 26. 7% 100. 0%
BETZIFH/MBEENRER (FEREE)

&t L FH Fik2 F#K3 &t
A& (ERIE) 0 128 78 96 302
A& (BfAEET ;X2 x45)) 0 58 0 23 81
KiE (TLNITKREBNRIVIEE 0 65 0 61 126
oy )—Fk (RC) & 0 2,699 48, 701 18,615 70,015
a2 )—Fk RC) BETLNTD> 0 0 40 0 40
e S & 0 56 189 421 666
B (S) ETLNATD 1 781 44 428 1,254
HEHmary)—k (SRC) & 0 128 793 33 954
arvp)y—r7JOws (CB) & 0 0 0 0 0
Z Nt 0 0 62 1 63
=X 1 3,915 49, 907 19,678 73, 501
BETEMNEGS/HMEEENEER (ERERE)

Z&t L i Fih2 F#K3 &5t
A& (EXRIE) 0. 0% 42. 4% 25. 8% 31. 8% 100. 0%
A& (PpflEE T E<2 x45)) 0. 0% 71.6% 0.0% 28. 4% 100. 0%
K& (FUNITKRBNRIVTESE 0. 0% 51.6% 0.0% 48. 4% 100. 0%
#Hemary)—Fk (RC) & 0. 0% 3. 9% 69. 6% 26. 6% 100. 0%
oy )—bk (RC) &E<TLANTD 0. 0% 0. 0% 100. 0% 0.0% 100. 0%
e (S & 0. 0% 8. 4% 28. 4% 63. 2% 100. 0%
#H®E (S) ETLNAD 0.1% 62. 3% 3. 5% 34.1% 100. 0%
HEHmary')—k (SRC) & 0. 0% 13. 4% 83. 1% 3. 5% 100. 0%
avy)y—r7JOvys (CB) & - - - - -
Z Nk 0. 0% 0. 0% 98. 4% 1. 6% 100. 0%
&t 0. 0% 5.3% 67.9% 26. 8% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

4 HEFEE - BHAOREICETSI &

4-2 HFEENEEFR HARARE)

&t L FR Fik2 FHR3 =X
B 687 19, 520 48, 549 5,227 73, 983
% 0.9% 26. 4% 65. 6% 7.1% 100. 0%
BT AP/ MEEENEER (XRARE)

&t L FH Fik2 F#K3 &t
A& (ERIE) 100 200 0 2 302
A& (B#AEET ;RO x45)) 48 33 0 0 81
KiE (TUNITKRENRIVIEE 28 98 0 0 126
oo )—Fk (RC) & 0 17, 855 47,024 5,136 70,015
a2 )—Fk RC) BETLNTD> 0 20 20 0 40
e S & 12 70 584 0 666
#%E (S) ETLNTD 498 748 6 2 1,254
HEHHmary)—k (SRC) & 0 326 541 87 954
arvp)y—r7JOws (CB) & 0 0 0 0 0
Z Nt 1 0 62 0 63
=X 687 19, 350 48, 237 5,227 73, 501
BET ARG/ HMEEENEER (XRARE)

Z&t L i Fih2 F#K3 &5t
A& (EXRIE) 33. 1% 66. 2% 0.0% 0. 7% 100. 0%
A& (PpffEE T E<2 x45)) 59. 3% 40. 7% 0.0% 0.0% 100. 0%
K& (FUNITKRBNRIVTESE 22.2% 717. 8% 0.0% 0.0% 100. 0%
#Hemary)—Fk (RC) & 0. 0% 25. 5% 67.2% 7. 3% 100. 0%
oy )—bk (RC) &E<TLANTD 0. 0% 50. 0% 50. 0% 0.0% 100. 0%
e (S & 1.8% 10. 5% 87. 7% 0. 0% 100. 0%
#H®E (S) ETLNAD 39. 7% 59. 6% 0.5% 0. 2% 100. 0%
HEHmary)—k (SRC) & 0. 0% 34. 2% 56. 7% 9.1% 100. 0%
avy)y—r7JOvys (CB) & - - - - -
Z Nk 1.6% 0. 0% 98. 4% 0. 0% 100. 0%
&t 0.9% 26. 3% 65. 6% 7.1% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HEHFE
AHFEER-EH~DOREICETSIL

4-3F xR GLRABIKE)

oL iR EFik2 Fik3 =11
B 2,056 63,636 6,244 1,398 73,334
% 2.8% 86.8% 8.5% 1.9% 100.0%
BEIENFH/BHaR (GERAEKE)

ZEHL F Eh2 EHk3 &t
A& (FEEXIE) 103 168 0 0 271
A (4R BE T3E<2 X 45)) 48 33 0 0 81
R (FLNTKRENRILVIESE 28 94 0 0 122
a2 —k(RC) & 950 61,381 5,672 1,398 69,401
#Era ) —k(RC)ETL/NT 0 40 0 0 40
HE(S)E 423 70 173 0 666
B (S)ESTLNT> 503 751 0 0 1,254
SEHHI)—L(SRC) & 0 867 87 0 954
av49)—kJ0Ov5(CB) & 0 0 0 0 0
ZDfth 1 62 0 0 63
=1 2,056 63,466 5,932 1,398 72,852
BELENEE/BHx R GEHAKE)

ZuhL e ke 8,3 At
A& (FEXRIE) 38.0% 62.0% 0.0% 0.0% 100.0%
A (PR BE T <2 X 45)) 59.3% 40.7% 0.0% 0.0% 100.0%
R (FUNTKRENARILIES 23.0% 77.0% 0.0% 0.0% 100.0%
a9 —bk(RC) & 1.4% 88.4% 8.2% 2.0% 100.0%
a9 —bk(RC)E<TL/ANTD 0.0% 100.0% 0.0% 0.0% 100.0%
HEG)E 63.5% 10.5% 26.0% 0.0% 100.0%
8 (S)E<TL/NT> 40.1% 59.9% 0.0% 0.0% 100.0%
HEHKHIY)—L(SRC) & 0.0% 90.9% 9.1% 0.0% 100.0%
a>49)—kJOvy5(CB) & - - - - -
ZDith 1.6% 98.4% 0.0% 0.0% 100.0%
&&t 2.8% 87.1% 8.1% 1.9% 100.0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HEHFE
AHFEER-EH~DOREICETSIL

4-3 B RE GERAEKE) /EABKELE

14 40 f4O/M\= | 4O/N\ZR A(O0= | /A=
B 4,281 109 642 311 1,351 184
% 6.0% 0.2% 0.9% 0.4% 1.9% 0.3%
BEIENPFH/BHaR (GERAEKE)

4 = A48A/N\= | /A=K (4O= A0=
A& (FEEXIE) 10 0 0 0 0 0
A (FpfRBE T3E<2 X 45)) 0 0 0 0 0 0
R (FLNTKRENRIVIESE 0 0 0 0 0 0
o) —k(RC) & 4,044 109 642 280 1,351 116
#Era ) —k(RC)ET LT 0 0 0 0 0 0
HE(S)i&E 173 0 0 0 0 0
B (S)ESTLANT> 1 0 0 0 0 0
HEHKFIY)—R(SRC)E 53 0 0 0 0 68
av9Y)—kJBavyY(CB) & 0 0 0 0 0 0
ZDfth 0 0 0 0 0 0
=X1i 4,281 109 642 280 1,351 184
BELENIE/BHx R GEAKE)

4 = A48A/n\= | /A=K (qa= AO=x=
A& (FEXRIE) 6.0% 0.0% 0.0% 0.0% 0.0% 0.0%
A (PR BE T E<2 X 45)) 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
R (FUNTKRENARILVIES 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
a9 —bh(RC) & 5.9% 0.2% 0.9% 0.4% 2.0% 0.2%
a9 —bk(RC)E<TIL/ANTD 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
HEG)E 75.9% 0.0% 0.0% 0.0% 0.0% 0.0%
8 (S)ELTL/INT> 0.1% 0.0% 0.0% 0.0% 0.0% 0.0%
HEHHIY)—L(SRC) & 5.6% 0.0% 0.0% 0.0% 0.0% 7.1%
a>49)—kJOvy5(CB) & - - - - - -
ZDith 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
&t 6.0% 0.2% 0.9% 0.4% 1.9% 0.3%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




(1A FOAY AI\= A/\=7k A /\7R 4= A=k A a/\=7~ o=
130 522 4033 4,882 463 10,153 9,895 3,680 40 2,605 89
0.2% 0.7% 5.7% 6.9% 0.6% 14.2% 13.9% 5.2% 0.1% 3.7% 0.1%
f1ak A7\ A/1\= A/\=7~ A \7R 4= = Ak A= [ ot
0 0 0 0 0 54 40 0 7 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 3
130 522 4033 4,831 463 10,006 9,478 3,593 22 2,605 72
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 36 14 0 0 0 0
0 0 0 0 0 1 0 0 11 0 14
0 0 0 0 0 56 188 87 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
130 522 4033 4,831 463 10,153 9,720 3,680 40 2,605 89
1Ak A7\ AI/1\= A/\=7~ A\7R 4= 4= A= A=k o—
0.0% 0.0% 0.0% 0.0% 0.0% 32.1% 23.8% 0.0% 4.2% 0.0% 0.0%
0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 3.2%
0.2% 0.8% 5.9% 7.1% 0.7% 14.6% 13.8% 5.2% 0.0% 3.8% 0.1%
0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
0.0% 0.0% 0.0% 0.0% 0.0% 15.8% 6.1% 0.0% 0.0% 0.0% 0.0%
0.0% 0.0% 0.0% 0.0% 0.0% 0.1% 0.0% 0.0% 1.5% 0.0% 1.9%
0.0% 0.0% 0.0% 0.0% 0.0% 5.9% 19.7% 9.1% 0.0% 0.0% 0.0%
0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
0.2% 0.7% 5.7% 6.8% 0.7% 14.3% 13.7% 5.2% 0.1% 3.7% 0.1%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




[ oy mp IN= N=7R = =k e &t
1,629 3 4,288 6,468 5,933 9,356 216 71, 263
2.3% 0.0% 6.0% 9.1% 8.3% 13.1% 0.3% 100.0%
o=k (m IN= N=7R = =k R &5t
0 0 0 0 57 0 0 168
0 0 0 0 33 0 0 33
0 0 0 0 91 0 0 94
1,585 3 4,153 6,240 4,907 9,062 204 68, 451
0 0 0 0 40 0 0 40
0 0 0 0 3 0 2 228
0 0 0 0 713 1 10 751
0 0 52 204 83 163 0 954
0 0 0 0 0 0 0 0
0 0 0 0 0 62 0 62
1,585 3 4,205 6,444 5,927 9,288 216 70, 781
[ o (m IN= N=7K - =k iR =
0.0% 0.0% 0.0% 0.0% 33.9% 0.0% 0.0% 100.0%
0.0% 0.0% 0.0% 0.0% 100.0% 0.0% 0.0% 100.0%
0.0% 0.0% 0.0% 0.0% 96.8% 0.0% 0.0% 100.0%
2.3% 0.0% 6.1% 9.1% 7.2% 13.2% 0.3% 100.0%
0.0% 0.0% 0.0% 0.0% 100.0% 0.0% 0.0% 100.0%
0.0% 0.0% 0.0% 0.0% 1.3% 0.0% 0.9% 100.0%
0.0% 0.0% 0.0% 0.0% 94.9% 0.1% 1.3% 100.0%
0.0% 0.0% 5.5% 21.4% 8.7% 17.1% 0.0% 100.0%
0.0% 0.0% 0.0% 0.0% 0.0% 100.0% 0.0% 100.0%
2.2% 0.0% 5.9% 9.1% 8.4% 13.1% 0.3% 100.0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HEHFE
AHFEER-EH~DOREICETSIL

4-4B xR (EF ZHER)

BEGL | BEpY | Al
F# 464 72,870 73,334
% 0.6% 99.4% 100.0%

HIE AR F R/ BH# K (X FE A

Zaial | ZEHhY &t
A& (FEEXIE) 62 209 271
A (FpfRBE T <2 X 45)) 9 72 81
K (TLNITKBNRILIESE 16 106 122
a2 —k(RC) & 118 69,283 69,401
a9 —bk(RC)ETL/ANTD 0 40 40
HE(S)i&E 2 664 666
B (S)ESTLNT> 256 998 1,254
HE&KHO)—L(SRC) & 0 954 954
av9Y)—kJBavy4(CB) & 0 0 0
ZDih 1 62 63
=X1i 464 72,388 72,852

i TERNE &/ B R ((EFEHRR)

BEGL | mupY | A

A& (FEXRIE) 22.9% 77.1% 100.0%
A (PR BE T <2 X 45)) 11.1% 88.9% 100.0%
R (FUNTKRENARILIES 13.1% 86.9% 100.0%
a2 —k(RC) & 0.2% 99.8% 100.0%
a9 —bk(RC)E<TL/ANTD 0.0% 100.0% 100.0%
H®E(S)&E 0.3% 99.7% 100.0%
8 (S)E<TL/INT> 20.4% 79.6% 100.0%
BHEHHFIVY)—L(SRC) & 0.0% 100.0% 100.0%
a>49)—kJ0v5(CB) & - - -

ZDith 1.6% 98.4% 100.0%
&&t 0.6% 99.4% 100.0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE



HELR

4 HFEE - BEHF~NOERICETS L

4-4 BHXRER EFERAAR) /BAEIHAS

2450mm [2450mmEL £ |2550mmEL £ 12650mmEL | 2750mm st
R [2550mm=K | 2650mmAK i | 2750mmAKiE| LA E =a
P 3, 809 5, 685 20, 850 21,634 24,921 76,899
% 5. 0% 1. 4% 27.1% 28. 1% 32.4%| 100.0%
BETZINFH/BHxR EFER) /FRXAS
2450mm [2450mmEL £ |2550mmEL £ 12650mmEL | 2750mm a5t
ki [2550mmzk i | 2650mmak i [2750mmEk | LLE H
AE (FEXRIE) 58 34 58 50 68 268
A& (Be#AEET EQ x45)) 101 38 4 0 0 143
KiE (TUNITKREBNRIVTEE) 96 49 Ji 8 2 162
#Hmary)—Lbk (RO) & 2,519 4,909 19, 940 20,855 23,823| 72,046
a2 )—Fk RC) BELTLNT 0 20 20 0 0 40
#%E (S & 424 340 107 19 209 1,099
#®E (S) ETLNTD> 473 213 308 231 285 1,510
HEHH a2 1)—F (SRC) & 74 75 217 232 421 1,019
avoy—kJowvy (CB) #& 0 0 0 0 0 0
Z D 2 2 138 233 113 488
&t 3,747 5, 680 20, 799 21,628 24,9211 76,715
BETERNEEG/EFHxEK EFERE) /BAXFAS
2450mm [2450mmEL £ |2550mmEL £ 12650mmEL | 2750mm a5t
x; 2550mm=& i [ 2650mmR 55 [ 2750mmAE 7| LLE =a
A& (FEERIE) 21. 6% 12. 7% 21. 6% 18. 7% 25.4% 100. 0%
ARiE (BB T X2 x45D) 70. 6% 26. 6% 2. 8% 0.0% 0.0%] 100.0%
KiE (TUNTKREBNRRIVIEE) 59. 3% 30. 2% 4.3% 4.9% 1.2% 100. 0%
HHpary)—+k (RO) & 3. 5% 6. 8% 27. 7% 28. 9% 33.1%| 100. 0%
#BHary1)—+bk RC) &LTLANDD 0.0% 50. 0% 50. 0% 0.0% 0.0%] 100.0%
#®E (8 & 38. 6% 30. 9% 9.7% 1.7% 19.0%| 100.0%
#®E (S) ETLNT 31.3% 14.1% 20. 4% 15. 3% 18.9%| 100.0%
HEHHa2)—F (SRC) & 1.3% 1. 4% 21. 3% 22. 8% 41.3%| 100. 0%
ayvyy—kJawvsy (CB) & #DIV/0! | #DIV/0! #DIV/0! #DIV/0! | #DIV/0! | #DIV/0!
Z Dt 0. 4% 0. 4% 28. 3% 47. 7% 23.2% 100.0%
&t 4. 9% 1. 4% 27.1% 28. 2% 32.5% 100. 0%
PRXAE FHE - REE
T{E 2,608
=S8 2,610




HEHF
4 HFEE - BEHF~NOERICETS L

4-4 BHEREK FFERE) /FRERAS [HIERNE]

2450mm [2450mmLL £ [2550mmEL £ [2650mmEL £ 2750mm st
R [2550mm=K | 2650mmAK i | 2750mmEKFE| LA E =a
P 40, 326 9,123 5, 369 3,124 3,068| 61,010
% 66. 1% 15. 0% 8. 8% 5.1% 5.0% 100.0%
BETZNFH/EHXER EFERM) /FARXAS [RIERE]
2450mm [2450mmEL £ [2550mmEL £ [2650mmEL £ 2750mm a5t
R [2550mm=K | 2650mmAK i | 2750mmAKiE| LA E =a
AiE (FEXRIE) 149 i 5 11 0 172
A& (Be$AEET EQO x45)) 20 0 0 0 0 20
K& (FLNTKRENRIVIEE) 53 0 0 0 0 53
#maroy)—Lbk (RO) & 38, 355 8, 328 5, 303 3,084 3,035 58,105
a2 )—Fk RC) BELTLNT 28 10 0 0 0 38
e (S & 588 168 Ji 16 23 802
#®E (S) ETLNTD> 84 424 12 8 0 528
HSEHHaY1)—F (SRC) & 645 126 34 5 9 819
avoy—krJowvy (CB) #& 0 0 0 0 0 0
Z D 378 28 4 0 1 411
St 40, 300 9,091 5, 365 3,124 3,068| 60,948
BETERNEEG/EFHxR EFERE) /FAXAD [HIERE]
2450mm [2450mmLEL £ [2550mmEL £ [2650mmEL £ 2750mm a5t
Ki#  |2550mmk i | 2650mmak i [ 2750mmK# | LI E =
A& (FEERIE) 86. 6% 4.1% 2.9% 6. 4% 0.0%|] 100.0%
ARiE (BB T X2 x45D) 100. 0% 0.0% 0.0% 0.0% 0.0%|] 100.0%
KiE (TUNTKRENRRIVIESE) 100. 0% 0.0% 0.0% 0.0% 0.0%|] 100.0%
#HHparo)—k (RO & 66. 0% 14. 3% 9.1% 5.3% 5.2% 100.0%
BHFa o) —Fk (RC) &E<TL/NT> 73.7% 26. 3% 0.0% 0.0% 0.0%|] 100.0%
e S & 73.3% 20. 9% 0.9% 2.0% 2.9% 100.0%
#H®E (S) ETLND 15. 9% 80. 3% 2.3% 1.5% 0.0% 100.0%
HEHHa2)—F (SRC) & 78. 8% 15. 4% 4.2% 0. 6% 1.1%| 100. 0%
ayvyy—kJawvsy (CB) & #DIV/0! | #DIV/0! #DIV/0! #DIV/0! | #DIV/0! | #DIV/0!
Z Dt 92. 0% 6. 8% 1.0% 0.0% 0.2% 100.0%
&t 66. 1% 14. 9% 8. 8% 5.1% 5.0% 100.0%
PHRXAE (REWZE] FHE - REE
F19fE 2,313
BEEIE 2,210




HEHFE
AHFEER-EH~DOREICETSIL

4-ABHRER (EFERM) /MEFERTOEERADER SHEDHHE

L BE % BEFE St
B 68,592 796 2,637 926 72,951
% 94.0% 1.1% 3.6% 1.3% 100.0%
BEILENPFH/ EHRREFERAN) /FRFERANOBEREDER IHDEE

L BE % BEFE &t
A& (FEEXIE) 113 3 4 90 210
A (FpfRBE T3E<2 X 45)) 3 55 0 17 75
R (FLNTKRENRILVIESE 0 106 0 0 106
a2 —k(RC) & 66,246 462 2,387 258 69,353
#Era ) —k(RC)ET LT 40 0 0 0 40
HE(S)iE 626 0 29 9 664
8B (S)E<TL/NTD 165 161 194 485 1,005
HE#HKFIH)—R(SRC)E 875 0 15 64 954
av9Y)—kJBavy4o(CB) & 0 0 0 0 0
ZDih 60 0 2 0 62
=&t 68,128 787 2,631 923 72,469
BELEANIS/ BEHNRKEFEARAS) /FRERABOBEREDER FHENEE

L BE % B &5t
A& (FEXRIE) 53.8% 1.4% 1.9% 42.9% 100.0%
A (PR BE T 5E<2 X 455)) 4.0% 73.3% 0.0% 22.7% 100.0%
R (FUNTKRENARILIES 0.0% 100.0% 0.0% 0.0% 100.0%
a9 —bk(RC) & 95.5% 0.7% 3.4% 0.4% 100.0%
a9 —bk(RC)E<TL/ANTD 100.0% 0.0% 0.0% 0.0% 100.0%
HEG)E 94.3% 0.0% 4.4% 1.4% 100.0%
8 (S)E<TL/NT> 16.4% 16.0% 19.3% 48.3% 100.0%
HEHKHIY)—L(SRC) & 91.7% 0.0% 1.6% 6.7% 100.0%
a>49)—kJOvy5(CB) & - - - - -
ZDith 96.8% 0.0% 3.2% 0.0% 100.0%
&t 94.0% 1.1% 3.6% 1.3% 100.0%
FL31

4-3 BHFxER GEABKE)/EAHKELE

HARTICET XA
SLEEmE . REIRTEDEF S EER
/N)La=——

EFEAE

Z D1t

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

S RBMRIRICEET S 2 &

-1 AT RILF—XIFEER

ik Fik2 FHR3 Fika =X
B 893 1,583 50, 215 21,292 73, 983
% 1.2% 2.1% 67.9% 28. 8% 100. 0%
BEIEANPFH/E T RIILX—XERER

ik Fik2 F#3 T &t
A& (ERIE) 23 4 130 145 302
A& (B#AEET ;X2 x45)) 27 4 2 48 81
KiE (TUNITKRENRIVIEE 8 1 5 112 126
oy )—Fk (RC) & 629 1,445 48, 637 19, 304 70,015
a2 )—bk RC) BETLNTD> 0 20 20 0 40
e S & 57 0 2 607 666
#%E (S) ETLNTD 93 31 246 884 1,254
HEHmar Y )—k (SRC) & 56 72 635 191 954
arvy)y—r7JOwvs (CB) & 0 0 0 0 0
Z Nt 0 0 62 1 63
=X 893 1,571 49, 739 21,292 73, 501
BEIEANEE/EIRIILE—ERER

EF# Fih2 F#3 e &5t
A& (EXRIE) 7. 6% 1.3% 43. 0% 48. 0% 100. 0%
A& (PpflEE T E<2 x45)) 33. 3% 4.9% 2. 5% 59. 3% 100. 0%
K& (FUNITKRBNRIVTESE 6. 3% 0. 8% 4.0% 88. 9% 100. 0%
#Hemary)—Fk (RC) & 0.9% 2.1% 69. 5% 27. 6% 100. 0%
oy )—bk (RC) &E<TLANTD 0. 0% 50. 0% 50. 0% 0.0% 100. 0%
e (S & 8. 6% 0. 0% 0.3% 91. 1% 100. 0%
#H®E (S) ETLNAD 7. 4% 2. 5% 19. 6% 70. 5% 100. 0%
HEHmary')—k (SRC) & 5.9% 7.5% 66. 6% 20. 0% 100. 0%
avy)y—r7JOvys (CB) & - - - - -
Z Nk 0. 0% 0. 0% 98. 4% 1. 6% 100. 0%
&t 1.2% 2.1% 67. 7% 29. 0% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

S RBMRIRICEET S 2 &

-1 AT RILF—XIFEER

Z4R1 Fik2 F#3 e =Xl
F# 893 1,583 50, 215 21,292 73,983
% 1.2% 2. 1% 67.9% 28. 8% 100. 0%
MRS FEE/E T RILF—RRER

E#k Fh2 Fk3 Eik4 =11
I #hig 0 4 755 334 1,093
11 3his; 6 0 166 3 175
I #h 355 1 367 855 153 1,376
IV #h 15 871 1,058 47,514 20, 453 69, 896
V #hig] 15 112 643 347 1,117
VI i 0 42 282 2 326
&t 893 1,583 50, 215 21,292 73,983
MR DES/E I RILTF—RERER

E#k Fh2 Fk3 Eik4 =X
I #higk 0. 0% 0. 4% 69. 1% 30. 6% 100. 0%
11 #his] 3. 4% 0. 0% 94. 9% 1.7% 100. 0%
I Hh i3 0.1% 26. 7% 62.1% 11. 1% 100. 0%
IV #hig 1.2% 1.5% 68. 0% 29. 3% 100. 0%
V thish 1.3% 10. 0% 57. 6% 31.1% 100. 0%
VIthis; 0. 0% 12. 9% 86. 5% 0. 6% 100. 0%
= 1.2% 2. 1% 67.9% 28. 8% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




A
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6.

Il

RECEAT AL

6-1 RILLTILT E RXtE

= 4 8/ O =R N =1
Fi 593 13, 768 949 58, 651 22 73, 983
% 0. 8% 18. 6% 1.3% 79. 3% 0. 0% 100. 0%
BELZNFH/ RILLTILTE FXEK

40 4 0\ m] mPAY A &5t
A& (FEXRIE) 0 50 2 250 0 302
A& (BHREE T2 x45) 0 27 0 54 0 81
K& (TULNTKREBNRIVTESE 0 118 0 8 0 126
oo )—Fk (RC) & 593 13, 225 927 55, 248 22 69, 993
a2y ) —k (RC) &E<TLANDD 0 0 20 20 0 40
e S & 0 19 0 647 0 666
8B (S) W\<TLANDD 0 292 0 962 0 1,254
HEHmary)—k (SRC) & 0 0 0 954 0 954
avy)—rJOovy (CB) & 0 0 0 0 0 0
Z Nt 0 0 0 63 0 63
&it 593 13, 731 949 58, 206 22 73, 501
WETTERNEES/ RILLTILTE EXR

40 4 0\ m] mPAY N &5t
K& (FEXRIE) 0. 0% 16. 6% 0.7% 82.8% 0.0% 100. 0%
A& (BB TR x45)) 0. 0% 33.3% 0. 0% 66. 7% 0.0% 100. 0%
A& (T LNTKRE/NRIVTESED 0. 0% 93. 7% 0. 0% 6. 3% 0.0% 100. 0%
#Hmav)—Fk (RC) & 0. 8% 18. 9% 1.3% 78.9% 0.0% 100. 0%
oy )—bk (RC) &E<TLANTD 0. 0% 0. 0% 50. 0% 50. 0% 0.0% 100. 0%
e (S & 0. 0% 2.9% 0. 0% 97.1% 0.0% 100. 0%
#%E (S) ETLNDD 0. 0% 23.3% 0. 0% 76. 7% 0.0% 100. 0%
HEHmary)—k (SRC) & 0. 0% 0. 0% 0.0% 100. 0% 0.0% 100. 0%
avyY—rJBavY ((B) & - - - - - -
HEHmary)—k (SRC) & 0. 0% 0. 0% 0.0% 100. 0% 0.0% 100. 0%
=1 0. 8% 18. 7% 1. 3% 79. 2% 0.0% 100. 0%
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6. RECEAT AL

6-1 RILLTZILTE KRAE A TRILLTILT B RHEEER (RE
e EFh2 Fk3 &t
B 62 400 73, 007 73, 469
% 0.1% 0. 5% 99. 4% 100. 0%

BETENPFE/RIVLTILTE BXR/RILLTILTE FRBEFER (RE

FEHRd Fik2 k3 =
A& (FEERTE) 0 0 302 302
RiE (#HBEE TiR<2 x455)) 0 14 67 81
K& (FULNTKRENRILTESE 0 0 126 126
#HEmao)—F (RO & 0 364 69, 619 69, 983
#HHa o) — bk (RO) BT L/ANT> 0 0 40 40
#%E (S & 0 22 644 666
#%E (S) ETLNT> 0 0 1,254 1,254
#HE#HHI V) —F (SRO) & 62 0 892 954
avyyY—rJovy (CB) & 0 0 0 0
ZDis 0 0 63 63
ast 62 400 13,007 713, 469

BETEEE/RILLTILTE RRERILLTILT E FEEEHR (R
3 Fh2 Fk3 =X18

A& (EXRIE) 0. 0% 0. 0% 100. 0% 100. 0%
A& (PpffEE T A2 x45)) 0. 0% 17. 3% 82. 7% 100. 0%
K& (FUNITKRBNRIVTESE 0. 0% 0. 0% 100. 0% 100. 0%
a2 )—Fk (RC) & 0. 0% 0. 5% 99. 5% 100. 0%
o) —bk (RC) &E<TLANTD 0. 0% 0. 0% 100. 0% 100. 0%
e (S & 0. 0% 3.3% 96. 7% 100. 0%
#®E (S) ETLND 0. 0% 0. 0% 100. 0% 100. 0%
HEHmary')—k (SRC) & 6. 5% 0. 0% 93. 5% 100. 0%
avy)y—r2JOvyy (CB) & - - - -

Z Dk 0. 0% 0. 0% 100. 0% 100. 0%
&t 0.1% 0. 5% 99. 4% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE



HELR

6. ERIRBICAET S &

6-1 RILLTILTE RRE/RILLTILTE FEEER (XHES)

Fik2 Fik3 Bit
F# 862 712, 607 73, 469
% 1.2% 98. 8% 100. 0%
BEIEMNFH/RILLTILTE FRE/RILLTILT E FEBER (KAESE

Fik2 Fik3 Bit
AE FEXRTE) 3 299 302
RiE (HlEE TiR<2 x4%) 31 50 81
K& (FLNTKRENRNRIVIESE 0 126 126
a2 )—F (RO & 144 69, 239 69, 983
#Ha o )—k (RO) BT LT 0 40 40
#HE (S & 22 644 666
#%E (8 EKTLNT 0 1,254 1,254
HEHHFI V) —k (SRO) & 62 892 954
avy)—kJAayY (CB) & 0 0 0
Z Dt 0 63 63
ait 862 12, 607 73, 469

BETERRAES/RILLTILTE EXE/ RILLTILT

E FRBER RHAEF

Fik2 FR3 =1

A& (FEERIE) 1.0% 99. 0% 100. 0%
A& (PfAEET RO xA5ED) 38. 3% 61.7% 100. 0%
K& (FLNTKENRIVTEE 0. 0% 100. 0% 100. 0%
#Hmaro)—hk (RO & 1.1% 98. 9% 100. 0%
a2 )—Fk (RC) BELTLNDT 0.0% 100. 0% 100. 0%
#*E (S) & 3.3% 96. 7% 100. 0%
#H®E (S) ETLND 0.0% 100. 0% 100. 0%
HEHma2)—Fk (SRC) & 6. 5% 93. 5% 100. 0%
avsy—rJawvy (CB) & - - -

Z Dt 0.0% 100. 0% 100. 0%
&t 1.2% 98. 8% 100. 0%




A
H3 ¥

X H
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RECEAT AL

6-2 MEXE . BEEOBRIAE

1 S Bt
B# 73, 951 32 713,983
% 100. 0% 0. 0% 100. 0%
M TR B R E DRSS &

1 S Bt
A& (FEERTE) 302 0 302
AE (PHIEE T2 x45) 81 0 81
KE (TLNTRE/NRIIVTESE 126 0 126
#HEHaro)—F (RO & 69, 983 32 10,015
#HHa o) — bk (RO) BT L/ANT> 40 0 40
#%E S & 666 0 666
#%E (S) ETLNT> 1,254 0 1,254
BEHKHFI Y — (SRO) & 954 0 954
avy)—k7avyY (CB) i& 0 0 0
Z 0t 63 0 63
ast 13, 469 32 13, 501
i TRAIRIA/ BEORERE

A = Bt
A& (FEERTIE) 100. 0% 0. 0% 100. 0%
A& (BHREE TR x4%)) 100. 0% 0. 0% 100. 0%
K& (FUNTKRENARIVTESE 100. 0% 0. 0% 100. 0%
#HEmHaro)—F (RO & 100. 0% 0. 0% 100. 0%
#Hay)— bk (RO) ESTLNTY 100. 0% 0. 0% 100. 0%
#%E S & 100. 0% 0. 0% 100. 0%
#BE (S) &EITLnT> 100. 0% 0. 0% 100. 0%
BEHHFI Y — (SRO) & 100. 0% 0. 0% 100. 0%
avyY—+rJovy (CB) i& - - -
Z Db 100. 0% 0. 0% 100. 0%
&t 100. 0% 0. 0% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE
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RECEAT AL

6-2 |RXK . BETMIE (R

L 1 10 m] N &t
F# 32 12,149 1,790 4 8 73, 983
% 0. 0% 97. 5% 2. 4% 0. 0% 0. 0% 100. 0%
BETERR/BIBIXE (E/)

ZELL A 40 =) N ait
RiE (FEEIE) 0 160 140 2 0 302
AE (PiAEE TR x4%D) 0 45 35 1 0 81
K& (TFLNITKENRILIES 0 57 69 0 0 126
a2 )—k (RC) & 32 69, 234 749 0 0 70, 015
oy )—F (RO BT LT 0 40 0 0 0 40
e S & 0 632 34 0 0 666
BB (S) BETLNnT> 0 546 700 0 8 1, 254
EHH I U—F (SRO) & 0 914 40 0 0 954
avy)—kJAavyYy (CB) & 0 0 0 0 0 0
Z D1t 0 62 0 1 0 63
ait 32 71,690 1,767 4 8 73, 501
BETEIE/BBRIE (Ef)

ZEEL 1 10 = A &t
K& (FEERIE) 0. 0% 53. 0% 46. 4% 0. 7% 0. 0% 100. 0%
RiE (BRI K2 x4%D) 0. 0% 55. 6% 43. 2% 1.2% 0. 0% 100. 0%
K& (FLNTKRBENRILTESE 0. 0% 45. 2% 54. 8% 0. 0% 0. 0% 100. 0%
oy )—k (RC) & 0. 0% 98. 9% 1.1% 0. 0% 0. 0% 100. 0%
By )—F (RC) BETLNT> 0. 0% 100. 0% 0. 0% 0. 0% 0. 0% 100. 0%
e S & 0. 0% 94. 9% 5.1% 0. 0% 0. 0% 100. 0%
#BE (S) ETLNnT> 0. 0% 43. 5% 55. 8% 0. 0% 0. 6% 100. 0%
E#HHI2J—F (SRO) & 0. 0% 95. 8% 4.2% 0. 0% 0. 0% 100. 0%
avyyY—rJovy (CB) i& - - - - - -
T D 0. 0% 98. 4% 0. 0% 1. 6% 0. 0% 100. 0%
a&t 0. 0% 97.5% 2. 4% 0. 0% 0. 0% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE
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6-2 |RXK . BFMINE (8%)

ZuiL 4 40 O I\ &%t
B 33 60, 953 12,963 31 3 73, 983
% 0. 0% 82. 4% 17. 5% 0. 0% 0. 0% 100. 0%
BELZIFH/ BB (A=)

ZuiL A 40 [} I\ &%t
A& (ERIE) 0 139 163 0 0 302
A& (BfAEET ;RO x45)) 0 25 56 0 0 81
KiE (TUNITKRENRIVIEE 0 43 83 0 0 126
o) —Fk (RC) & 32 58, 643 11, 311 29 0 70,015
a2 )— bk (RC) &E<TLNDD 0 34 6 0 0 40
e S & 0 529 137 0 0 666
B (S) ETLANTD 1 296 953 1 3 1,254
HEHmary)—k (SRC) & 0 845 109 0 0 954
avy)—rJOovy (CB) & 0 0 0 0 0 0
Z Nt 0 44 18 1 0 63
&it 33 60, 598 12, 836 31 3 73, 501
BEIZIIE/RABSER (AF)

ZurL A 40 | N\ &t
A& (EXRIE) 0. 0% 46. 0% 54. 0% 0.0% 0.0% 100. 0%
A& (BB TR x45)) 0. 0% 30. 9% 69. 1% 0.0% 0.0% 100. 0%
K& (FULNTKRBNRIVTESE 0. 0% 34.1% 65. 9% 0.0% 0.0% 100. 0%
#Hemary)—Fk (RC) & 0. 0% 83. 8% 16. 2% 0.0% 0.0% 100. 0%
oy )—bk (RC) &E<TLANTD 0. 0% 85. 0% 15. 0% 0.0% 0.0% 100. 0%
e (S & 0. 0% 79. 4% 20. 6% 0.0% 0.0% 100. 0%
#®E (S) ETLND 0.1% 23. 6% 76. 0% 0.1% 0.2% 100. 0%
HEHmary)—k (SRC) & 0. 0% 88. 6% 11. 4% 0.0% 0.0% 100. 0%
avyY—rJBavY ((B) & - - - - - -
Z Dk 0. 0% 69. 8% 28. 6% 1. 6% 0.0% 100. 0%
&t 0. 0% 82. 4% 17.5% 0.0% 0.0% 100. 0%
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6-2 |RXK . BEFTMINE (SR

L 1 10 m] N &t
F# 34 59, 095 14, 847 1 6 73, 983
% 0. 0% 79. 9% 20. 1% 0. 0% 0. 0% 100. 0%
BELEANFH/ BIABRINE (BF)

ZELGL A 40 =) N ait
K& (FEEIE) 0 118 184 0 0 302
A& (PreiAEE TR x4%D) 0 30 51 0 0 81
K& (TFLNTKKENRILIES 0 55 69 0 2 126
#mar o )—k (RC) & 33 56, 779 13, 203 0 0 70, 015
oy )—F (RO BT LNTD 0 37 2 1 0 40
e S & 0 571 89 0 0 666
BB () BETLnT> 1 346 903 0 4 1, 254
EHHI 2 U—F (SRO) & 0 121 221 0 0 954
avy)—kJAavyYy (CB) & 0 0 0 0 0 0
Z D1t 0 46 17 0 0 63
ait 34 58, 715 14,745 1 6 73, 501
BELEANZNE/ BRI E (B

ZEEL 1 10 = A &t
i (FEERIE) 0. 0% 39. 1% 60. 9% 0. 0% 0. 0% 100. 0%
KRiE (BRI R<2 x4%D) 0. 0% 37. 0% 63. 0% 0. 0% 0. 0% 100. 0%
K& (FLNTKRBENSRILTESE 0. 0% 43. 7% 54. 8% 0. 0% 1. 6% 100. 0%
oy )—k (RC) & 0. 0% 81. 1% 18. 9% 0. 0% 0. 0% 100. 0%
By )—F (RC) BETLNT> 0. 0% 92. 5% 5. 0% 2. 5% 0. 0% 100. 0%
e S & 0. 0% 86. 6% 13. 4% 0. 0% 0. 0% 100. 0%
#BE (S) ETLNT> 0. 1% 21. 6% 72. 0% 0. 0% 0. 3% 100. 0%
E#HHI2J—F (SRO) & 0. 0% 76. 2% 23. 8% 0. 0% 0. 0% 100. 0%
avyY—rJoyvy (CB) i& - - - - - -
T D 0. 0% 73.0% 217. 0% 0. 0% 0. 0% 100. 0%
a&t 0. 0% 79. 9% 20. 1% 0. 0% 0. 0% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




RIRBICET S &

1-1 BEftpO R

T 10%LE | 15%ELE | 20%5LE : -

TOWRE | 5ykim | 2ouskim | osuskis | 2OW&E | &F
F 225] 11,667 27,909 16,611 17,371 73,983
% 0.6% 1584 37.7% 2254  23.5% 100 0%

BETEMNPH/EuEOsE

T 10%LE | 15%ELE | 20%5LE : -

1O | 5ykim | 2ouskim | 2swskrs | 2OW&E | &R
RE RLE 3 30 18 91 130 302
RE (PAREE T 50 X 4ED) 0 1 5 10 2 81
RE (TUNTABRFNTED 0 5 23 3 6 126
BHao ) —k (RO) & 413] 11.336| 26.946] 15.427 15.893| 70015
BEHaU o —F (RC) BILNT> 0 7 7 12 7 10
BE (5 B 0 m 69 756 292 666
BE (S BILND 0 12 228 121 563] 1,254
BEBGIVS ) —F (SR0) & 1 113 372 213 252 954
Ao —FrJnvs (CB) & 0 0 0 0 0 0
Z oM 5 1 T 2 3 63
aEt 25] 11.625]  27.729] 16,495 17.2271| 73,501

BE TEREE/BERO SR

T0%BLE | 16%ELE | 20%ELE :

TR | (5yskis | 20uskis | 25uskss | 2o0HE | &R
RE (GERLE) T 0% 9.9%  15.9% 30 1% _ 4304 100.0%
RiE (PHRE T A< X 4%)) 0. 0% 494 18.5%  49.4%  27.2% 100 0%
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Z N1t 0 0 0 0 0
=i 12, 383 32 779 206 13, 400
BEIZIE/ FZBIERER GIEEDOE) @A

ZuiL | F#HA 2 3 &5t
A& (EXRIE) 23. 8% 0. 0% 54. 0% 22.2% 100. 0%
A& (PpflBEE T E<2 X 45)) 34.1% 34.1% 25. 0% 6. 8% 100. 0%
K& (FUNITKREBNRIVTESE 91. 5% 0. 0% 4.3% 4.3% 100. 0%
#emary)—Fk (RC) & 94. 4% 0.1% 4. 6% 0.9% 100. 0%
HEHary)—bk (RC) &E<TLANTD 90. 0% 10. 0% 0.0% 0.0% 100. 0%
e (S & 87. 7% 3. 5% 8. 8% 0.0% 100. 0%
#®E (S) ETLND 55. 4% 1.2% 21. 4% 22.0% 100. 0%
HEHmary')—k (SRC) & 17.2% 0. 0% 22. 8% 0.0% 100. 0%
arvy)y—r2JOvy (CB) & - - - - -
Z N1t - - - - -
&t 92. 4% 0.2% 5. 8% 1.5% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

9. BEMEFADEREICETLH &

9-1 SEEFREMEFR (FRHS)

ik Fik2 FHR3 Fika =X
B 51,996 2,445 19, 466 76 73, 983
% 70. 3% 3.3% 26. 3% 0.1% 100. 0%
BETZIFH/ ShEFREXRER (FERHS)

Fika Fh2 F#3 T &t
A& (ERIE) 271 3 28 0 302
A& (BfAEET ;X2 x45)) 71 10 0 0 81
KiE (TUNITKRENRIVIEE 126 0 0 0 126
oy )—Fk (RC) & 48, 821 2,361 18, 757 76 70,015
#HFmaro)—bk RC) BETLNTD> 40 0 0 0 40
e (S & 87 3 576 0 666
B (S) &ETLNATD 1,110 39 105 0 1,254
HEHHmar Y )—k (SRC) & 925 29 0 0 954
arvy)y—r7JOwvs (CB) & 0 0 0 0 0
Z Nt 63 0 0 0 63
=X 51,514 2,445 19, 466 76 73, 501
BETEMNEG/ aihEEREMNKER (ERE)

FR1 Fih2 F#K3 e &5t
A& (EXRIE) 89. 7% 1. 0% 9. 3% 0. 0% 100. 0%
A& (BB T A2 x45)) 87. 7% 12. 3% 0.0% 0.0% 100. 0%
K& (FUNITKRBNRIVTESE 100. 0% 0. 0% 0.0% 0.0% 100. 0%
oy )—Fk (RC) & 69. 7% 3. 4% 26. 8% 0.1% 100. 0%
oy )—bk (RC) &E<TLANTD 100. 0% 0. 0% 0.0% 0.0% 100. 0%
#%E (S & 13.1% 0. 5% 86. 5% 0. 0% 100. 0%
#®E (S) ETLND 88. 5% 3.1% 8. 4% 0.0% 100. 0%
HEHmar Y ')—k (SRC) & 97. 0% 3. 0% 0.0% 0.0% 100. 0%
arvy)—r2JOvyY (CB) & - - - - -
HEHmary)—k (SRC) & 100. 0% 0. 0% 0.0% 0.0% 100. 0%
&t 70. 1% 3.3% 26. 5% 0.1% 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HELR

9. BEMEFADEREICETLH &

9-2 BEEFREXNKER HEAHS)

i L HH k2 | HMRS | HHR4 | FHS &Et
B 1,434 58,088 546 2,677 11,218 20| 73,983
% 1.9% 78. 5% 0. 7% 3. 6% 15. 2% 0.0%| 100.0%
BELER/ SEFREXNRER KRS

i L FHH 62 | HMS | HH4 | FHS =1
A& (ERIE) 146 156 0 0 0 0 302
A& (BfAEET ;X2 x45)) 73 8 0 0 0 0 81
KiE (TUNITKRENRIVIEE 100 26 0 0 0 0 126
o o)—Fk (RC) & 176 55,790 546 2,676 10,807 20| 70,015
a2 )—Fk RC) BETLNTD> 0 40 0 0 0 0 40
e (S & 15 239 0 1 411 0 666
B (S) ETLANTD 923 331 0 0 0 0 1,254
HEHHmary)—k (SRC) & 0 954 0 0 0 0 954
arvy)y—r2JOwvs (CB) & 0 0 0 0 0 0 0
Z Nt 1 62 0 0 0 0 63
= 1,434 57,606 546 2,677 11,218 20| 73,501
EETERN/ S EERENEER (XRAHD)

oL FH& 52 | HF#R3 | EH4 | FHS =1
A& (EXRIE) 48. 3% 51.7% 0.0% 0.0% 0.0% 0.0%| 100. 0%
A& (PpflBEE T A2 X 45)) 90. 1% 9. 9% 0.0% 0.0% 0.0% 0.0%| 100. 0%
K& (FUNITKRBNRIVTESE 79. 4% 20. 6% 0.0% 0.0% 0.0% 0.0%| 100. 0%
a2 )—Fk (RC) & 0. 3% 79. 7% 0.8% 3.8% 15. 4% 0.0%| 100. 0%
HHary)—bk (RC) E<TLANTD 0.0%| 100. 0% 0.0% 0.0% 0.0% 0.0%| 100. 0%
e (S & 2.3% 35. 9% 0.0% 0.2% 61. 7% 0.0%| 100. 0%
#H®E (S) ETLND 73. 6% 26. 4% 0.0% 0.0% 0.0% 0.0%| 100. 0%
HEHma>y')—k (SRC) & 0.0% 100.0% 0.0% 0.0% 0.0% 0.0%| 100. 0%
arvy)—r2JOvy (CB) & - - - - - - -
Z Dk 1.6% 98. 4% 0. 0% 0.0% 0.0% 0.0%| 100. 0%
&t 2.0% 78. 4% 0. 7% 3. 6% 15. 3% 0.0%| 100. 0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HEHFE
10.F53LICEET 52 &

a FFROHEAO
1 /\ = &t
BYHEAODQETIREUNDE |FH 17,488 7] 50,220 751 68,466
% 25.5% 0.0% 73.4% 1.1%  100.0%
BYHEAODET SR B# 1,727 5 4491 676 6,899
% 25.0% 0.1% 65.1% 9.8%|  100.0%
=X11 B 19,215 12 54711 1427 75,365
% 25.5% 0.0% 72.6% 1.9%  100.0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HEHFE
10.F53LICEET 52 &

b(i) HEMSEORDO THETOEIMNZ2MUT., XX, HABRTELIIIEARKENSEOID Tin
FTOESN2MUTTH>T. H D, HABTELIIHEAENSHOMETHDKFEREBEA
09MUT THAHED (alZZHTHEDERL, )

1 =] N\ = =111
EMHAODQETSREUNDE [FH 403 126 39.843] 26,000 66,372
% 0.6% 0.2% 60.0% 39.2%|  100.0%
BYHEAODET SR F# 155 0 821 375 1,351
% 11.5% 0.0% 60.8% 27.8%|  100.0%
=X11 B 558 126 40664 26,375 67,723
% 0.8% 0.2% 60.0% 38.9%|  100.0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE




HEHFE
10.F53LICEET 52 &

b (i) #EAMNSHOIBMD FIHETHDEHIANA2MUT, X, /NILaA=—FISHOD FinETHDFHIA
2mUTTHHLT, MO NI —FENS HEFAOEETDKEEREN0IMUTTHSELD
(al2EZ U T HEDERL,)

1 [u] /\ = a&t
EMHAODETSEUNDE [FH 660 3| 55,409 222] 56,294
% 1.2% 0.0% 98.4% 0.4%|  100.0%
BYHEAODET SR F# 727 23 4438 1,509 6,697
% 10.9% 0.3% 66.3% 22.5%|  100.0%
=X11 B 1,387 26] 59,847 1,731 62,991
% 2.2% 0.0% 95.0% 2.7%  100.0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE



HEHFE

10.853LICBE9 52 &

c aRUDbIZIHITHLDOLUNDED

1 =] /\ = =111
BYHEAODQEFETIRELUNDE |FH 92 6] 18,786 48462] 67,346
% 0.1% 0.0% 27.9% 72.0%  100.0%
BYHEAODET SR B# 106 0 992 5,712 6,810
% 1.6% 0.0% 14.6% 83.9%  100.0%
=X11 B 198 6] 19,778] 54,174| 74,156
% 0.3% 0.0% 26.7% 73.1%|  100.0%

FR2FEEREEMRETESE FE) T2 (EEMETE- R THE
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